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Welding/Joining Processes

2. What is fusion(liquid state) welding and solid state welding?

3. 'iiJ-\l1~Tlll:IJ'\.untJ'ileh'll;l1~L~El:IJ"ll'U~lTIL~·WiJU~1 (Low Hydrogen) LLl;l:: lTIL~1L'iiJu1u

LdElL~El:IJiiTlll :IJl.hvrunnuTl ru.~:IJu'1i'Yll-\1nl;lEl£h ~11L~mQYn::mu,~:IJu'1i El::h
q q

4. n11L~El:IJ MIG/MAG LLl;l:: CO2 ~l-\1numh-\lhul-\l (1~11tJl;l::LatJ~:IJln~~~LL1il::11~1U
q 'IJ

~1Ell~ El::LLn1:IJ'lJ El-\ln11:IJ1TI)

5. n1::LL~L~El:IJ"ll'U~ AC, DCEP LLl;l:: DCEN iiTlll:IJ~:IJ1tJllElcil-\1h
,

... A

6. mnna :IJ'Yln

6.1 1~'YhuEln-U1tJ Cleaning Action 1Um1L~mJ AI alloy LLl;l::"ll'U~'ilEl-\ln1::LL~L~El:IJ~

Hl~tJn11L~El:IJLLUU TIG

6.2 ~lm:IJ1ru.Tlll:IJ1ElUL,h(Heat Input) 1Unl'iL~El:IJfin L~tJii,yEl:IJl;l1um1L~El:IJi-\ld
'IJ

electrode diameter = 2 mm

Current

Arc Voltage

= 60 A

= 12 V

Welding Speed = 11 em/min.

Elii-\l1umntdU1::t~''Yln-1l1iAl1un11Li-\lril tJTlll:IJ1ml.'iiJlnUl;lltJaLl;lTlL'Yl1~ = 0.8

7. 1~UElnTlll:IJL~ ~ElULL1il::Tlll:IJ LL~mh-\l1::~11-\1nl''H~El:IJfin (TIG) LLl;l::m1L~El:IJiAll;ll~:IJl

mfTl (Plasma Are) 'iiJln1l1iAl,yl-\1~l-\11~:IJ1n~~~
q
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Shielding gas

(a)

Welectrode

coppercon~-----
Inner nozzle

8. Calculate the heat input for Friction Stir Welding (FSW) using 1300 rpm, 110

mm/min. and 2,000 N pressure force, other pa 'ameters are assumed constant?

(Answer in English or Thai)

9. 1"'L.:nrJ'\.l,[lTr-n_h::m)1JLL·WJ~eJ"1l'\.l,L",~nmhwu.l 10 UJ. Single V, Included angle 60°

(Bevel angle 30°), root face 2 mm., root gap 1mm.

.........Be good .....
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